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MathConceptition

2023

Time: 50 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

4. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

5. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 6x6=2 [1%]
2) 8x7=2 [1%]
3) 28+4=7 [1%]
4)  54+6=72 [1%]
5) 678+ 114=7? [1%]
6) 434 +385=2 [1%]
7))  357+169=72 [1%]
8) 76-48=7? [1%]
9)  662-45=19 [1%]
10) 749-291="2? [1%]
11) 214+237+29=2° [1%]
12) 416-74—-124=2° [1%]
13) 450-373+195="7? [1%]
14) 4x7+462="2 [1%]
15) 9x8-35=7 [1%]
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16) 4 hours 5 minutes = ? minutes [2%]
4 /INF S S = ? Ay
17)  There are 538 balloons in a shop. 279 balloons are blue and others ~ [2.1%]

are red. If 94 red balloons and 106 blue balloons are sold, how
many red balloons are left?

JEPIARER 538 {ElsRER » Hr 279 2B > & MHYZELE -
WK H 94 (EALEERIRFI 106 (HEE ESRER - [ENER AL ESR
ERZ /D 2
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18) The pictogram below shows the favourite ice-cream favours of 28 [2.2%]
students in Class 2A.

DU GIP R 2A HE 28 GRS REFAIT LI -
4 N

Favourite ice-cream favours of students in Class 2A
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Each @ stands for 1 student
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If the number of students who like vanilla ice-cream is 2 more than

that of students who like strawberry ice-cream, how many students

like strawberry ice-cream?
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19) There are 46 eggs. A farmer uses boxes to pack the eggs. If every [2.3%]

half dozen eggs are packed into a box, how many eggs are there in
all full boxes?

B 46 B - A —Ea2fiEE - 5 TEER
= FrakmianNteEES/VE?

20)  If Sally studies from eleven forty-three in the morning to half past ~ [2.4%]
twelve in the afternoon, how many minutes does she spend on

studying?

WRIFTHE EF+— B+ = bR E - BHE M6
+ o R E I T %008
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21)  Find the sum of the tens digit of 6789 and the value represented by ~ [2.5%]
the hundreds digit of 5432.

R 5432 IV E r T AV B L 6789 117 8~ ALl -

22)  The figure below shows a rectangle formed by several squares. The [2.6%]
longer side of the largest rectangle is ?  cmlong.

NEE B S E TR R T - BRI Rt
ENREE 2 K-

6 cm
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23) How many cylinders are there in the figure below? [2.7%]
Tl %/ DRI ?
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24)  There are 28 sticks and plenty of plasticine balls, in which 12 [2.8%]

plasticine balls and some sticks are used to form a prism. By using
all the remaining sticks and plasticine balls, a/an ___?  pyramid
can be formed.

B 28 S TBRIRSRORE - IS 12 AR
YR (BRI - FIFBE FRTARITTEAIER - PTal(E—(8
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25) Making a bag needs a 2 m 5 cm of cloth. It needs 152 ¢cm more [2.9%]
cloth to make a backpack than to make a bag. If a 5 m cloth is used
to make a backpack, how many centimetres of cloth is left?

(ARG —UC 25K 5 BORATAT - TIRUE (B ey
PE—(BIESHTS 152 BRIV - IR — I S RATHAC(E
(B B A VB 2

26)  Ronald has 88 dollars. He buys a book and 4 pens. If a book costs [3%]
42 dollars 80 cents, and 2 pens are 27 dollars 20 cents cheaper than
a book, how much does Ronald spend in dollars?

Bt 88T - ME T 4 LM —AKF - IR —AFZHVEER
427087 > T 2L FEE—AEFEE 27T 2/ A T/
JT?
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27)  Among all 3-digit odd numbers which have the digit “0” but not the [3-1%]

digit “1”, what is the difference between the largest and the smallest
numbers?

FERTAEEEHET 0, MAEEEF ' 1) (= BE8T > &K
B R N 2%V 2

28) A boy is standing between a tree and a tower. The tree is in front of  [3.2%]
him. If the south is to his right, the tower is to the ? of
the tree.

FIZ VARG R Z [ - MEHEMETRTS - HE A A EE M
7 BEERiy 2 ;

A) east 5575  B) southg /5 C) west§7 D) north JE75
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29)  Form 4-digit numbers by using the digits “0”, “1” and “2” only, [3.3%]
where each digit can be used more than once. How many odd
numbers can be formed which are smaller than 2000?

AT "0, "1y & 2, dHplPUr s > S8 PLE
R > ATHE 2/ D{EEE 2000 /NAYEREL ?

30) Find the missing number in the pattern. [3.4%]
PRI - Thdifadr ERVESE -

2023, 2022, 2025, 2019, 2029, _? , 2035, ...
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31) Marco has 3 sons. Their ages are 8, 11 and 14. If Marco is 45 years [4%]
old now, after how many years will the sum of the ages of his sons
be as same as his age?

ANEA 3E T ST BRI 8k ~ 11 kAT 14 5% = 2R/ D IR
45 5% > 2/ VAR ST AR A AN e B Y SR AR [F] 2

32)  Each letter represents a 1-digit number. Find A. [4.1%)]
AR BT SCF BH R —E — A8 > K 4 -
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33) Rosanne has 3 five-dollar coins, plenty of two-dollar coins and 5 [4.2%)]
fifty-cent coins. If Rosanne buys 5 apples and each apple costs 6
dollars, at least how many coins should she pay such that there is
no change?

ANEEA 3ARTLICHEN ~ RZ ZIThETE K S AU A RE - A1
BE T SEER > BEERE 6 T - M/ VR
AAFEIE?

34)  10% March, 2024 is a Sunday. Which day of the week is 241 [4.3%]
January, 20247

2024 £ 3 A 10 H2EHH - 2024 41 H 24 2215 ?




MathConceptition 2023

35)  The side length of a square flowerbed is 24 metres. Workers placea [4.470]
notice board every 3 metres along the sides of the flowerbed. If a
notice board is placed at each corner of the flowerbed, how many
notice broads are there?

—EIESACHERVERE 245K - TALEACESNES 3 SKi—
{E SR o ARACERRHE A% A e —E 2ok > A SR
(e 2 i

36) ABC is a 3-digit number, where A, B and C are 3 different numbers. [4.5%]
The product of 4, B and C is 135. If the hundreds digit and units

digit are swapped, the new integer is 396 smaller than ABC. What
is the number ABC?

ABC E—{EH=(r% > A~ BM CE2AEEF -4~ B~ CZIA
& 135 o WG A RIEN BT 4 A > RIBETAYEUEEL ABC
/N 396 - ABC B HEUE & ?
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37) How many squares are there in the figure below? [4.6%]
T EHE 2 EE T ?
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38) Find the value of 2023 + 1823 + 1623 + --- +223 + 23, [4.7%]

5K 2023 + 1823 + 1623 + -++ + 223 + 23 [fIfH -
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39) Ada, Betty, Christy and their friends are sitting around a table. [4.8%]
Starting from Christy, Ada is sitting on the ninth seat on her left-
hand side, while Betty is sitting on the twelfth seat on her right-
hand side. There are 5 people sitting between Ada and Betty. At
least how many people are there altogether?

INTT > NEE ~ /NITERA PRI B iR R T AAE o e/ TR
a8 INTT AR TESUEL - RS TR+
—Efr o ANFANEEZ A S ANBE - BERDVIAEZDAN?

40)  Find the missing number. [4.9%]
Kt/ DIV
16 18
1 63 56 21
15 65 ? 9
25 16
End of paper

EE5
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